
(  Mega 2.1  ) 

U 2 , Listen and Discuss 

A – Choose the correct answer : 

   1 –  The ………………………… run through the gate and disappear into a     .   

  a -  inmate                             -b-  armed robber                       -c  thief 

 

2 –  Newton was …………………………… by a K-9 unit, a helicopter and police deputies  . 

   a -  pursed                            -b-  beaten                                   -c  declined 

 

3 – The ……………………………… armed robbers stole a car and hijacked a security van . 

   a -  3                                      -b-  4                                            -c   2 

 

4 – The stolen car by the robbers was a …………………………… . 

   a -  truck                                -b-  compact car                          -c   police car  

 

5 – Alfredo Ramirez was accused for stealing a …………………………… . 

a -  car                                     -b-  credit card                               -c  handcuffs 

 

B- Match the words with their meaning  : 

   1 – inmate               (            )     a serious crime such as murder   

  2 – misdemeanor      (            )     a minor crime 

  3 – felony                (            )      prisoner 

  4 – hijack                (            )      thief , burglar 

  5 – robber               (            )      to use violence to take control of  vehicle 


